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SOCIOLOGY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Who among the following defines Sociology as an interpretative understanding of social
action ?
(A) Herbert Spencer (B) August Comte
(C) Emile Durkheim (D) Max Weber
2. A primary group consists of :
(A) small unit (B) large population
(C) distant location (D) formal membership
3.  Who among the following has extensively discussed about the “in-group” and

“out-group” ?

(A) R. K. Merton (B) C. H. Cooley
(C) G. C. Homans (D) R. K. Mukerji
4.  The term ‘Sociology’ to study human society scientifically was first used by :
(A) Herbet Spencer (B) A. Comte
(C) Aristotle (D) E. Durkheim
5.  Which one of the following is not an element of community ?
(A) We - feeling. (B) Territory.
(C) Cultural diversity. (D) Self - sufficiency.
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6.  An organisation formed by individuals to achieve some goals is called :

(A) society (B) association
(C) institution (D) community
7. Which one of the following is known to be Universal Social Institution ?
(A) Caste (B) Religion
(C) Family (D) Tribe
8.  ‘Lower Class’ culture is an example of :
(A) Counter culture (B) Contra-culture
(C) Sub-culture (D) Dominant culture
9.  The basic characteristic of caste system is :
(A) Equality (B) Hierarchy
(C) Equal status (D) Openness

10. Which one of the following forms the basis of reference group according to R. K. Merton?
(A) Relative equality (B) Relative difficulties

(C) Relative association (D) Relative deprivation

11. The concept of ‘role-set’ has been formulated by :
(A) Talcott Parsons (B) R. K. Merton

(C) Max Weber (D) A. R. Radcliffe-Brown

12.  Who among the following authored “Human Society” ?
(A) T. Parsons (B) R. K. Merton

(C) K. Davis (D) Maclver

J— 0507 4



10.

11.

12.

F AL B Wi & forw =afeal g fed U HieA FEd
(A) HHS (B) ™

() wen (D) HHHA

frefefea § 9 foad g gmifser e & ®9 § S S @ 2

(A) Smfa (B) =

(C) ufErR (D) SIS
= ot et I T 3T B |

(A) wfa Gemfa (B) UR H&pfd
(C) U H&Hfa (D) W4 HEpfd

Sfq-wem o1 Jeryd Afras €1

(A) FHMA (B) URIIHH
(C) HHM Hfefd (D) g

RF. A & FATOR Frfafed § | o1 o T T g & MER &t Fmio e 72
(A) WU FHET (B) Wmifersh hicgal
(C) wmfees we=d (D) TafeeR d=m

‘JA-G2' HI FAFURON 1 Yfaqures foram fwan ?
(A) TATHIE IEH (B) AR, T
(C) e IR (D) TSR Efas-ard

‘F e’ T oRaeh FrEfafed § 9 i 72
(A) 3. aEg (B) 3T, HeA
(C) . <ford (D) feheer

J—0507 5 P.T.O.



13. Social norms are set by :
(A) the state (B) religion

(C) society (D) elites

14. In sociological parlance “Value” refers to :
(A) Standards of conduct.
(B) Social preferences.
(C) Qualities of cultured person.

(D) Ideals.

15. The marriage of a man to two or more women is called :
(A) Polygyny (B) Monogamy

(C) Polyandry (D) Faternal Polyandry

16. Who among the following practices polyandry ?
(A) Paliyan (B) Santhal

(C) Toda (D) Jat

17. Criteria for social stratification are :
(i) Power, Prestige
(ii) Prestige, Position
(iii) Power, Position
(iv) Power, Position and Prestige
(A) Only (i) is correct
(B) (ii) and (iii) are correct
(C) (iii) and (i) are correct

(D) (iv) is correct only
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18. Match List-I with List-II and select the correct answer from the codes given below :

List-I (Acts) List-1I (Years)
(a) Domestic Violence Act (i) 1954
(b) Hindu Widow Remarriage Act (i) 1961
(c) Sharda Act (iii) 2006
(d) Dowry Prohibition Act (iv) 1926
(v) 1929

Codes :

(@ @b) ((© @
(A) @) @ (v) ()
B) (@(v) (v) (@) (i)
© ® @) @) (i)
(D) @) @) @O ()

19. Anticipatory Socialisation leads to :

(A) Contflict (B) Disintegration of personality
(C) Normlessness (D) Upward social mobility

20. The Weberarian model of Social Stratification to caste has been used by :
(A) M. N. Srinivas (B) S. C. Dube
(C) G.S. Ghurye (D) Andre Beteille

21. According to Blumer which one of the following is not ‘Social Act’ ?
(A) Wedding (B) Maintaining a diary
(C) Family dinner (D) Education tour

22.  Which of the following is a part of Max Weber’s contribution to sociology ?
(A) Evolutionary theory of religion
(B) Role of values in social transformation
(C) Causation and social function of conflict
(

)
D) Role of heredity in shaping human behaviour
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23. For Dahrendorf class conflict relates to :
(A) Social systems
(B) Social organisations
(C) Imperatively coordinated associations
(

D) Imperial societies

24. Dysfunction according to R. K. Merton means :

(A) Useless consequences of an activity
(B) Negative consequences of an activity
(C) Multiple consequences of an activity
(D) Irrelevant consequences of an activity

25. Match the following Concepts with the Authors

Concepts Authors
(@) Surplus value (i) Pareto
(b)  Social fact (i) Weber
(c) Logical action (i) Durkheim
(d) Ideal type (iv) Karl Marx
Codes :

(@ B (© @
(A) (v) (D) @ @)
(B) @) (v) @) @
(© @) G @O @)
(D) @O G @) ()

26. Durkheim’s formulations were clearly influenced by the 19th century intellectual
pre occupation with :

(A) Anthropology (B) Biology
(C) Psychology (D) Philosophy
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27.

28.

29.

In the light of statements given below mark the correct answer code.

(i)  Contflict theory in education propounds that education is characterised by a
‘hidden agenda’.

(ii) Conflict theory in education disapproves the role of education in society.

(i) Conflict theory in education disregards educational contributions towards
individual development.

iv) Conflict theory in education outrightly rejects education as equalizer.
A) Only (i) is correct.

(
(
(B) Both (ii) and (iii) are correct
(C) Only (iv) is correct

(

D) Only (i), (ii) and (iii) are correct

Match the following Concepts with their Authors :

Concepts Authors
a) Totemism i)  Dahrendorf
b) Logical and Non-Logical Actions ii)  Collins
c¢) Organisational Arena of Struggle iii) Pareto
d) Imperatively Coordinated Association iv) Durkheim
Codes :

(@ ® (o (@

(A) @ () @G @Gv)
(B) (v) @) @ @)
(© @) (v) () ()
(D) @) (@) (@v) @)

The tribals profess primitive religion which in sociological parlance is known as :
(A) Totemism (B) Animism

(C) Communism (D) Socialism
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30. Consider the following statements and select the right one.
Statements :

(i)  All interactionist theory draws upon the theoretical synthesis provided by
G.H.Mead.

(i) Interactionist theorising reveals unity and not diversity.

(iii) There is no controversy evident in symbolic interactionism as a theoretical
perspective.

Statements Code :

(A) Only (i) is correct.

(B)  Only (ii) is correct.
(C) (ii) and (iii) are correct.
(D) Above all are correct.

31. In which one of the following orders has T. Parsons given the functional prerequisites
of social system ?

(A) Goal attainment, Integration, Adaptation, Pattern-maintenance.

(B) Adaptation, Integration, Pattern-maintenance, Goal attainment.
(C) Adaptation, Goal attainment, Integration, Pattern-maintenance.
(D) Integration, Pattern-maintenance, Goal attainment, Adaptation.

32.  Who among the following argued in favour of substituting the term ‘need” with “necessary
condition of existence’

(A) Levi- Strauss (B) A.R. Raddliffe - Brown
(C) Ralph Nadel (D) Durkheim

33. Consider the following statements :

Assertion (A) : American society was not cohesive during the Vietnam war.

Reason (R) : War produces internal solidarity in society.
(A) Both (A) and (R) are true but (A) is the reason for (R).

(B) Both (A) and (R) are true but (R) is not the correct reason.
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.
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34. Max Weber’s works have had important influence in sociology viz.
(i)  for substantive mission of social action.
(ii) a strategy for analysing social structure.
(iii) to meet four universal functional needs.
(iv) to modify the structure of social action.

Choose the correct answer from the code :

Code :

(A) (i) and (ii) are correct.
(B) (ii) and (iii) are correct.
(C) (iii) and (iv) are correct.
(D) (i) and (iv) are correct.

35. Which one of the following is authored by Louis Coser ?
(A) Out of Utopia

(B) Class and Class Conflict in Industrial society.
(C) The Functions of Social Conflict.
(D) The Nature of Human Conflict.

36. Match List-I with List-II and mark the correct code given below :

List-1 List-11
(a) Social Action (i) Halinowski
(b) Division of Labour (i) Durkheim
() Functionalism (iiiy Pareto
(d) Symbolic Interactionism (iv) G. H. Mead

(v) Margaret Mead

Code

(@ B () @
(A) (v) @) 0@ @
(B) (@) @) @) (v)
© @@ @ (@v) (i)
(D) @) @ (@v) ()
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37.

38.

39.

40.

41.

42.

According to Radcliffe - Brown structural analysis could legitimately proceed from :

(i)  One necessary condition for survival of a society is minimal integration of its
parts.

(i) The term function refers to those processes that maintain the necessary integration.

(iii) In each society structural features can be shown to contribute to the maintenance
of necessary solidarity.

Choose the correct answer from the following codes :

Code :
(A) Only (i) is correct. (B)  Only (ii) is correct.
(C) Only (iii) is correct. (D) (i), (ii) and (iii) are correct

“Rise and Fall” theory of social change is otherwise known as :
(A) Modular theory (B) Linear theory
(C) Cyclical theory (D) Evolutionary theory

Who makes a distinction between ‘Concrete Social Structure” and ‘Structural Form” ?
(A) Radcliffe - Brown (B) T. Parsons
(C) Levi- Strauss (D) Murdock

In a family, the grandfather was a cobbler and the father taught in a Primary school in
a town and now the son is an engineer in a multi-national corporation. This is an
example of :

(A) Cultural mobility (B) Intra-generational mobility

(C) Horizontal mobility (D) Intergenerational mobility

A research involved in testing of a social theory in the field is called a :
(A) deductive research (B) inductive research

(C) theoretical research (D) testing hypothesis

Number of deaths per 1000 is called as :
(A) nominal variable (B) ordinal variable

(C) interval variable (D) ratio variable
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(C) dofa ¥ (D) WE®

b RER H fare At 9, fidr e i Teh wreifhes qrewen § uerd 9 9o 31 I Teh Sgeed

O H Tk TSR &1 T8 1 Teh ISR ¢ |

(A) Hiehfaer et (B) afa: e wiwiem

(C) &St wifqefer (D) sfqdiet wek Tfasfier

forelt &1 o Tk gTfSTes fogia &t St § G Tk 3 Fed B
(A) TR WY (B) SANTHATHE MY

(C) Hsifae Wy (D) TR i ST

3fd 1000 JI-H& I FEd B

(A) FHHIR =) (B) HHYEh =N

(C) WL =R (D) 31U =N
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43. Hypothesis can be better understood as :
(i) unrelated to theory
(ii) related to theory
(iii) tentative answer to a research problem

Choose the correct answer from the given code :

Code :

(A) (i) is correct.

(B) (i) is correct.

(C©) (), (ii) and (iii) are correct.
(D) (ii) and (iii) are correct.

44. The calculated value of a correlation equal to 0.1 indicates :
(A) no correlation. (B) medium correlation.

(C) negative correlation. (D) Low correlation.

45. Plan for collection, analysis and interpretation of data in a research activity is called as:

(A) evaluative design (B) diagnostic design
(C) exploratory design (D) descriptive design
46. Class interval Frequency

4-8 2

8-12 4

12 - 16 10

16 - 20 0

20 - 24 6

24 - 28 3

The calculated value of y is given below. Mark the correct answer from the
following :

(A) 17.04 (B) 18.2 (C) 18.04 (D) 19.00
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43.

44.

45.

46.

JTehe Al I 98 & 9

() Tosia g sHasg

(i) Togid | deg

(ili) eh WY FHET H1 3T IW
Frefafed we 5 9 w6 S| -

% SN UM ST Hehal ¥ |

(A) (i) F& T

(B) (i) W& T

(C) (), (i) T (iii) T 1
(D) (i) TN (iif) T €1

et Tg Hely % 9feforg gor 1 0.1 % aTeR 21 R SRTa T 7
(A) wEdEETd T © (B) i o1 TeHe
(C) THNIHE HeHaH (D) =1 weEsy

foret e ifafafy 9 <1 & Seper, faveivor qen s &t ASHT bl

(A)  HeAHTIES TGl (B) THRMIH® W@
(C)  TToHUIcHeh &Yl (D) faaRomeRs: @
T A agfa

4-8 2

8-12 4

12 - 16 10

16 - 20 0

20 - 24 6

24 - 28 3

x o1 Afehterd ed e foa 7o €1 376 9 Hel ST g |

(A) 17.04 (B) 18.2 (C) 18.04
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47.

48.

49.

50.

A non-probability sampling technique which is considered to be a form of accidental
sampling is called as :

(A) Purposive sampling. (B) Snowball sampling.
(C) Quoto sampling. (D) Cluster sampling.

The study of recorded human communications in the books, magazines, web-pages,
poems, news papers, songs, speeches, letters, e-mail messages, bulletin board, laws and
constitutions is known as :

(A) Historical Analysis (B) Content Analysis

(C) Statistical Analysis (D) Comparative Analysis
The approach that deals with issues of social life at the level of small group is called as:
(A) Micro-Study. (B) Macro-Study.

(C) Panel Study. (D) Case-Study.

Research conducted under controlled condition is known as :

(A) Survey Research. (B) Experiment Research.
(C) Evaluation Research. (D) Descriptive Research.
-00o0-
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48.

49.

50.

Teh T-GHTedT Yiq=raa dehsiteh, TS HAfirer Yiq=ae o1 Teh ®9 |1 ST 8, bl

FEd g
(A)  IeRwaql gfaea
(C) i gfd=raa

(B) Hreicl Ufd=ra
(D) A& gfd=r

T, TSRS, SAe-USii, shieranet THERGE, T, wron, fafgd, St derdl, seife 9,

fafy qen == AreFl § TEeg AHd GENl o ST i

(A) UfRiae fagero
(C) wifema faverwo

TY-HE % TR T GHISeh Stod | [ J8) ¥ Gelfed 3qrTH oh

(A) TEH A
(C) U e

Frefa feafa & denfera sig =t
(A) FeE Iy
(C) WA MY
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